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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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(i) 3T Y¥H-Y7 7 31 J97 8 &l R @S] — 37, &, § 3Rk g 7 fauifoiad & /

(iii) @US 3§ Uh-Ueh 37% qlt 4 J97 5 | @S T 4 6 J97 & o970 & 9% 2 37
F 8| @S T H 10 97 AIT-T7 3H & & | @V 7 H 11 F97 & 949 @ 9%
439FH 3|

(iv)  @APeI] & FI1T I 3FFlT Tg1 & |

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(itt) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qe H
SECTION A

Y97 G&IT1 4 T TI9F J97 1 3% HT & |

Question numbers 1 to 4 carry 1 mark each.

1. T A A4, o ay, - a, =84 2, 1 HE ST 1T ?

What is the common difference of an A.P. in which 891 — &y = 84 ?
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Ife weh @l fag P& a frsen o O g al g0 W Ei=h 78 @ vt &
o= =1 HIU1 60° B, 9 OP 6l @erE F1d hHifSu |

If the angle between two tangents drawn from an external point P to a
circle of radius a and centre O, is 60°, then find the length of OP.

Ffg 30 #Y. St wh HAR, Y W 1043 H. T S0 S 7, O g 1 IHWA
I T B 2
If a tower 30 m high, casts a shadow 10+/3 m long on the ground, then

what is the angle of elevation of the sun ?
900 @Sl % Tsh ¢ H U Igesdl Ush e g4 W €Sl 83 He (ehed h
TRl 0-18 3 | &L H U g Hall oh! T &1 8 ?

The probability of selecting a rotten apple randomly from a heap of
900 apples is 0-18. What is the number of rotten apples in the heap ?

Qs
SECTION B

JoT GEIT 5 G 10 7% I J97 & 2 3% & /

Question numbers 5 to 10 carry 2 marks each.

30/1

p 1 98 AH F1a hifse fraes fow fgama wefiemor px? - 14x + 8 = 0 1 T 4o
TE H 6 T3 |

Find the value of p, for which one root of the quadratic equation
px2 —14x + 8 = 0 is 6 times the other.

3

It 20, 19%, 18%, 172, ... 1 hIH-HT Y2 YUH RUMHS 9E 3 ?

Which term of the progression 20, 19%, 18%, 17%, ... 18 the first negative

term ?
3 P.T.O.
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10.

fag difse fop ga it foreht Sfian & ofd fogett w @i=h T8 Toi@md Sfar &
1 YA I s 3 |

Prove that the tangents drawn at the end points of a chord of a circle
make equal angles with the chord.

us g9 foheft Tgdst ABCD &1 ft 5wl yofreti o st &tar 2 | fag fifsre fos
AB + CD = BC + DA

A circle touches all the four sides of a quadrilateral ABCD. Prove that
AB + CD =BC + DA

T @1 y-318 a1 -39 Hi HAw: fogali P aan Q | ufd=ag &t 7 | Al
(2, - 5), PQ %1 Hea-forg &1, A1 P au1 Q & e 1a shifT |

A line intersects the y-axis and x-axis at the points P and Q respectively.
If (2, — 5) is the mid-point of PQ, then find the coordinates of P and Q.

afe P(x, y) I A5, 1) @1 B(- 1, 5) § gial @am &, af fag e f6
3x = 2y.

If the distances of P(x, y) from A(5, 1) and B(- 1, 5) are equal, then prove
that 3x = 2y.

@ us |9
SECTION C

7 &7 11 @ 20 % % J97 & 3 3HF & |
Question numbers 11 to 20 carry 3 marks each.

11.

12.

30/1

Ife ad = be 8, a1 fiag hifse T g

@2+bH)x2+2(c+bd) x+ (2 +d®) =0 &1 HlS ql»&df&%ﬂﬁ?ﬁ% |

If ad # be, then prove that the equation
(a2 +b?) x% + 2 (ac + bd) x + (¢ + d®) = 0 has no real roots.

Teh GHIAE At 1 YW UE 5, (0 IS 45 9T 3Heh I 9T T INTHA 400 2 |
39 THTGL U] o Ul shl &I dT 9Td 3Ta HTd <hifeg |
The first term of an A.P. is 5, the last term is 45 and the sum of all its

terms is 400. Find the number of terms and the common difference of the
AP.
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13. U HAR & U ¥ oA dreflt @eft @1 W uig & sus 4 #i. q9r 16 @i, Hi
g g fag ca Do | afe ca DA HAR % R & 39 Hiu
Th-gaL & I &, dl HHR H Harg 7 il |
On a straight line passing through the foot of a tower, two points C and D
are at distances of 4 m and 16 m from the foot respectively. If the angles

of elevation from C and D of the top of the tower are complementary, then
find the height of the tower.

14. U& 91 H 15 The A1 $8 HIcil 71q @ | Alg I H & Teh hlail g Hepra i
SRR T e P St SRR A T AL T e B
&A1 F1A hITIT, |
A bag contains 15 white and some black balls. If the probability of

drawing a black ball from the bag is thrice that of drawing a white ball,
find the number of black balls in the bag.

11’
U § fawfra ear 2 2 y 1w ot 3 hifsw |

15. fig [% y], figail P(2, -2) a1 Q@, 7) F1 e @ YarEs # 8

In what ratio does the point (%, y] divide the line segment joining the

points P(2, — 2) and Q(3, 7) ? Also find the value of y.

16. < T MR H, YIh 3 TH =M b A 74gd, 4-5 TH S w1 TH g9 qAT
4-5 9ot IS 1 Ush 31U SHIC 7T & | BEIehd WRT &1 &% H1d iy |

— g & ‘A’%éﬁ?ﬁ'?“* 3 &t —

30/1 5 P.T.0.
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Three semicircles each of diameter 3 c¢cm, a circle of diameter 4-5 cm and a
semicircle of radius 4-5 cm are drawn in the given figure. Find the area of
the shaded region.

17. @ 7 ampfa #, O g a1t 1 Geohga gai Al Brsard 21 dft den 42 At E |
gfe / AOB = 60° 2, a1 SIfehd W T &% 1 HIFT |

[nzgmﬁm]

In the given figure, two concentric circles with centre O have radii 21 ¢cm
and 42 cm. If Z AOB = 60°, find the area of the shaded region.

[Userc=g]
T

30/1 6
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18. 54 #i. =€l 3R 1-8 #). & wh A8 H yrh 25 fepri/aver o vfd § wE w1 R |
Y 40 fiFe | T &9wa &1 5= & gt 7, afe fG=s & faw 10 S+
T 9Tt <l ST 8 2
Water in a canal, 54 m wide and 1-8 m deep, is flowing with a speed of

25 km/hour. How much area can it irrigate in 40 minutes, if 10 ¢cm of
standing water is required for irrigation ?

19. UH WP o fedeh hl fqeh HaT3 4 HHI g AUT $Hh gaid BRI o IRHTT 18 &
3N 6 Tl 3 | 39 fvash o1 9k IS &e Fd I |

The slant height of a frustum of a cone is 4 cm and the perimeters of its
circular ends are 18 ¢cm and 6 cm. Find the curved surface area of the
frustum.

20. TUHh 3 AR & 9919 I foud 4-4 #. x 26 #. x 1-0 H. & | 38 e
30 THY 3Tdier Fsar 3T 5 9HT HIerE 1 Uh @EdT SoHThR 9189 S==&1 7=
2 | 9139 shl &eTs F1d hifau |

The dimensions of a solid iron cuboid are 44 m x 2.6 m x 1:0 m. It is

melted and recast into a hollow cylindrical pipe of 30 cm inner radius and
thickness 5 cm. Find the length of the pipe.

@ue q
SECTION D

Yo7 &I 21 & 31 T Jcdb Jo7 &4 36 & /

Question numbers 21 to 31 carry 4 marks each.

21. x o€ & HIfST :
1 + 3 = 9 ,x;t—l,—l,—t}
x+1 5x+1 x+4
Solve for x :
L § 3 5 1

+ = , X#—-1, ——, — 4
x+1 hx+1 x+4 5%

30/1 7 P.T.O.
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29. awwmawimﬁsém%ﬁmmﬁmﬁ@w%aﬁuﬁﬁ
T A | 390 AU Tl B, A TS T oo bl WA H a1 HHI A 2

Two taps running together can fill a tank in 31—13 hours. If one tap takes

3 hours more than the other to fill the tank, then how much time will
each tap take to fill the tank ?

23. ﬂﬁﬁﬂﬂﬁ(ﬁ%ﬁ%ﬁ%nﬁ%ﬁ’ﬁﬁﬂ&%(7n+ 1):(4n+27)%,
Al 3k 99 UgI 1 U 1T hITrT |

If the ratio of the sum of the first n terms of two A.Psis (7n + 1) : (4n + 27),
then find the ratio of their 9! terms.

24. fag Af for ga % et s forg @ 9u i 8 & woet wneit 6 wemeat
A Bl 2 |
Prove that the lengths of two tangents drawn from an external point to a
circle are equal.

25. @ $ rpfa #, XY @1 XY, O shg aret g9 hl & GHiqL 9@ & 91 Th
31 TRl AB, &1 T fog C 8, XY 1 A a1 X'Y' 1 B W Ufd=sg
w7 | fag Hifse 6 2 AOB = 90°.

X P & Y

< 1 1 >
<

9
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26.

27.

28.

30/1

In the given figure, XY and X'Y' are two parallel tangents to a circle with
centre O and another tangent AB with point of contact C, is intersecting
XY at A and X'Y' at B. Prove that ~ AOB = 90°.

X P AY

N
v

X’ Q B 5'{,

H

U s ABC i &1 Shifsie f5&d gsi BC = 79, £ B = 45°, £ A = 105°
& | a9 T = Bye 1 @A i Saeht yamd A ABC &1 @ et 6

3 .
S E

4

Construct a triangle ABC with side BC =7 ecm, £ B = 45°, Z A = 105°.
Then construct another triangle whose sides are -2 times the

corresponding sides of the A ABC.

TS TS TETd Yad ¥ S 300 H. il FEE W I W 2 | 38 S W IS
g EATS STETS & U G o gl fehil W R fadia feemeti # feom <) fergai
% TG HIVT HHI: 45° AT 60° & | T <l =TS F1d HIfT |

(V3 = 1-732 30T shifru |

An aeroplane is flying at a height of 300 m above the ground. Flying at
this height, the angles of depression from the aeroplane of two points on

both banks of a river in opposite directions are 45° and 60° respectively.
Find the width of the river. [Use V3 = 1-732]

af¢ f9g Adk + 1, 2k), B(3k, 2k + 3) a1 C(5k — 1, 5k) ¥@ &, @ k H AF
T1d <hITST |

If the points A(k + 1, 2k), B(3k, 2k + 3) and C(5k — 1, 5k) are collinear,
then find the value of k.

9 P.T.O.
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a1 faftrm gl =1 Wb |1y et T | WiRiekdr Si1d hifo TR gTed St @
(i) I T BT, 3R
(i) 7% H9 BT |

29.

30.

30/1

Two different dice are thrown together. Find the probability that the

numbers obtained have
(i) even sum, and

(i1)  even product.

€1 E 3Tpfd H, ABCD Us 31 & forgeht faumd 21 8t x 14 f € | BC =
=H WH R T Adgd Giel T 2 | IS § SHifhd W &1 &% ol
qRATY JTd I |

A 21 Tt B

Zz

14 Tt

D C

In the given figure, ABCD is a rectangle of dimensions 21 cm x 14 cm. A
semicircle is drawn with BC as diameter. Find the area and the

perimeter of the shaded region in the figure.
A 21 cm B

\

14 cm

10
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fordlt aui-srat duger o= |, 2211, x 20 Wi, 61 Ta A Il dEgR 2 HY. INUR
& AT dUT 3-5 HI. 4TS o Teh bR oh H HTal & | Ife & W T &1,
a shifore fob &t | fopat awi &3 | STat EXeor W 3 fa=m = I |

In a rain-water harvesting system, the rain-water from a roof of
22 m x 20 m drains into a cylindrical tank having diameter of base 2 m

and height 3-5 m. If the tank is full, find the rainfall in ecm. Write your
views on water conservation.

11



